Multiplicar Tres Polinomios (B)
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Simplifique cada expresion.

- (=5¢" +5¢%) (—=7¢* — 49)(—2¢° + 24" + 9¢%)

(T2 +4)(62" 4 32%) (=522 — 32 — 4)

(—4a® + 3a*)(6a* — 2a*)(9a® + 3a* — Ta®)

(=29 +3)(7g + 6)(—8¢° + 3¢* — 3¢°)

(39" 4+ 3¢%)(—2¢° + 8¢")(9g" + 9¢° + 2¢%)
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Multiplicar Tres Polinomios (B) Respuestas
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Simplifique cada expresion.

- (=5¢" +5¢%) (—=7¢* — 49)(—2¢° + 24" + 9¢%)
= —70¢" + 100" + 325¢° — 175¢° — 180¢"

(T2 +4)(62* 4 32%) (=522 — 32 — 4)
— —2102" — 3512% — 3632° — 2162* — 4823

- (—4a® + 3a*)(6a* — 2a°)(9a” + 3a* — Ta?)
— —216a'? + 162a"™ + 1924 — 200a° + 4248

(=29 + 3)(7g + 6)(—8¢° + 3¢g* — 3¢%)
= 112¢" — 114¢° — 75¢° 4+ 27¢"* — 544°

(39" +39%)(=20" +8¢")(9g" + 99" + 29%)
= —54¢" + 108¢" + 3669 + 252¢ + 48¢°
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